## Riverside County Flood Control & Water Conservation District

**Bid Abstract** 

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax: 951.788.9965

Project Name: HEMET MDP LINE D, STAGE 4

**Project Number:** 4-0-0211-04 **Bid Open Date:** 04/13/2006

ER'S ESTIMATE S.J. & B GROUP GARCIA JUAREZ

## **ENGINEER'S ESTIMATE** CONSTRUCTION, INC. Total Bid Item No. & Description Unit Quantity Unit Bid Total Bid Unit Bid Total Bid Unit Bid L.S. \$100,000.00 \$100,000.00 \$75,000.00 \$75,000.00 **MOBILIZATION** \$75,000.00 \$75,000.00 \$10,000.00 L.S. \$10,000.00 \$3,000.00 \$3,000.00 \$5,000.00 \$5,000.00 WATER CONTROL \$25,000.00 \$28,000.00 \$25,000.00 L.S. \$25,000.00 \$28,000.00 \$25,000.00 TRAFFIC CONTROL L.S. \$15,000.00 \$15,000.00 \$58,000.00 \$58,000.00 \$10,000.00 \$10,000.00 CLEARING AND MISCELLANEOUS WORK **EXCAVATION** C.Y. 49,100 \$10.00 \$491,000.00 \$18.00 \$883,800.00 \$5.00 \$245,500.00 C.Y. \$4,050.00 \$4,995.00 \$6,075.00 135 \$30.00 \$37.00 \$45.00 ROADWAY EXCAVATION **BACKFILL** C.Y. 30,700 \$15.00 \$460,500.00 \$15.00 \$460,500.00 \$10.00 \$307,000.00 FILTER MATERIAL C.Y. 100 \$40.00 \$4,000.00 \$700.00 \$50.00 \$5,000.00 \$7.00 L.S. \$40,000.00 \$40,000.00 \$29,000.00 \$29,000.00 \$6,000.00 TRENCH SAFETY SYSTEM AND FALSE \$6,000.00 WORK CLASS "A" CONCRETE, REINFORCED C.Y. 8 \$1,500.00 \$12,000.00 \$2,000.00 \$16,000.00 \$3,000.00 \$24,000.00 10 CONCRETE BOX C.Y. 220 \$1,000.00 \$220,000.00 \$990.00 \$217,800.00 \$1,300.00 \$286,000.00 CLASS "A" CONCRETE, MINOR 11 **STRUCTURES** CLASS "B" CONCRETE, C.Y. 87 \$600.00 \$801.00 12 \$52,200.00 \$69,687.00 \$500.00 \$43,500.00 MISCELLANEOUS 13 TRANSITION STRUCTURE NO. 1 **EACH** 2 \$10,000.00 \$20,000.00 \$39,000.00 \$78,000.00 \$20,000.00 \$40,000.00 2 \$1,500.00 14 JUNCTION STRUCTURE NO. 2 **EACH** \$3,000.00 \$4,000.00 \$8,000.00 \$2,000.00 \$4,000.00 3 **EACH** \$2,000.00 \$6,000.00 \$4,900.00 \$14,700.00 \$10,000.00 15 MANHOLE NO. 1 \$30,000.00 16 \$3,000.00 \$48,000.00 \$8,700.00 \$139,200.00 \$10,000.00 \$160,000.00 **EACH** 16 MANHOLE NO. 2 \$1,500.00 \$2,900.00 \$3,000.00 17 MANHOLE NO. 3 **EACH** \$1,500.00 \$2,900.00 \$3,000.00 3 \$6,000.00 \$18,000.00 \$3,700.00 \$11,100.00 \$12,000.00 18 MANHOLE NO. 4 **EACH** \$36,000.00 19 \$754,800.00 \$757,316.00 \$1,258,000.00 L.F. 2,516 \$300.00 \$301.00 \$500.00 96" RCP 1750D \$911,520.00 \$833,872.00 20 84" RCP 1500D L.F. 3,376 \$270.00 \$247.00 \$475.00 \$1,603,600.00 673 21 36" RCP CLASS IV L.F. \$80.00 \$53,840.00 \$61.00 \$41,053.00 \$160.00 \$107,680.00 24" RCP CLASS IV L.F. 422 \$40.00 \$16,880.00 \$31.00 \$13,082.00 \$130.00 \$54,860.00 22 \$73,680.00 \$30.00 \$20.00 \$12,280.00 23 18" RCP CLASS IV L.F. 614 \$18,420.00 \$120.00 C.Y. \$45.00 \$63,900.00 \$55,380.00 24 1,420 \$39.00 \$50.00 \$71,000.00 AGGREGATE BASE, CLASS 2 \$292,000.00 25 ASPHALT CONCRETE TYPE B **TONS** 3,650 \$80.00 \$292,000.00 \$87.00 \$317,550.00 \$80.00 **TONS** 875 \$35.00 \$30,625.00 \$55.00 \$48,125.00 \$60.00 \$52,500.00 26 TEMPORARY RESURFACING \$1.00 \$1.25 \$29,093.75 27 MISCELLANEOUS IRON AND STEEL LBS. 23,275 \$23,275.00 \$2.00 \$46,550.00

**Project Name:** HEMET MDP LINE D, STAGE 4 **Project Number:** 4-0-0211-04

Bid Open Date: 04/13/2006

Bid	<b>Open Date:</b> 04/13/2006			ENGINEER'S	ESTIMATE	S.J. & B	GROUP		A JUAREZ UCTION, INC.
<i>Item</i> 1 28	No. & Description  TRAFFIC LOOP DETECTOR	<i>Unit</i> L.F.	<b>Quantity</b> 3,060	<i>Unit Bid</i> \$10.00	<b>Total Bid</b> \$30,600.00	<b>Unit Bid</b> \$5.00	<b>Total Bid</b> \$15,300.00	<b>Unit Bid</b> \$35.00	<i>Total Bid</i> \$107,100.00
29	REPLACEMENT TRAFFIC SIGNAL CONDUIT RELOCATION	L.F.	30	\$30.00	\$900.00	\$70.00	\$2,100.00	\$200.00	\$6,000.00
30	REMODEL 4-INCH VCP HOUSE CONNECTORS	L.F.	50	\$50.00	\$2,500.00	\$500.00	\$25,000.00	\$150.00	\$7,500.00
31 32	DUST ABATEMENT STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S. L.S.	1 1	\$10,000.00 \$15,000.00	\$10,000.00 \$15,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$1,000.00 \$5,000.00	\$1,000.00 \$5,000.00

\$4,265,533.75 \$4,997,545.00 \$3,754,510.00

Page 2 of 6

**Project Name:** HEMET MDP LINE D, STAGE 4 **Project Number:** 4-0-0211-04

**Bid Open Date:** 04/13/2006

	•			GENESIS CON	NSTRUCTION	SKD ENGIN	EERING, INC.		RUCTION CO.	
Item 1	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid	
1	MOBILIZATION	L.S.	1	\$449,812.00	\$449,812.00	\$163,000.00	\$163,000.00	\$130,000.00	\$130,000.00	
2	WATER CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$45,000.00	\$45,000.00	\$5,000.00	\$5,000.00	
3	TRAFFIC CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$255,000.00	\$255,000.00	\$200,000.00	\$200,000.00	
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$50,000.00	\$50,000.00	\$246,000.00	\$246,000.00	\$300,000.00	\$300,000.00	
	WORK									
5	EXCAVATION	C.Y.	49,100	\$7.00	\$343,700.00	\$9.00	\$441,900.00	\$10.00	\$491,000.00	
6	ROADWAY EXCAVATION	C.Y.	135	\$40.00	\$5,400.00	\$172.00	\$23,220.00	\$25.00	\$3,375.00	
7	BACKFILL	C.Y.	30,700	\$15.00	\$460,500.00	\$3.00	\$92,100.00	\$13.00	\$399,100.00	
8	FILTER MATERIAL	C.Y.	100	\$50.00	\$5,000.00	\$53.40	\$5,340.00	\$46.00	\$4,600.00	
9	TRENCH SAFETY SYSTEM AND FALSE	L.S.	1	\$50,000.00	\$50,000.00	\$32,400.00	\$32,400.00	\$100,000.00	\$100,000.00	
10	WORK	C.Y.	8	\$1,600.00	\$12,800.00	\$2,720.00	\$21,760.00	\$1,350.00	\$10,800.00	
10	CLASS "A" CONCRETE, REINFORCED CONCRETE BOX	C. I .	8	\$1,000.00	\$12,800.00	\$2,720.00	\$21,760.00	\$1,550.00	\$10,800.00	
	CONCRETE BOX									
11	CLASS "A" CONCRETE, MINOR	C.Y.	220	\$900.00	\$198,000.00	\$900.00	\$198,000.00	\$1,000.00	\$220,000.00	
	STRUCTURES									
12	CLASS "B" CONCRETE,	C.Y.	87	\$675.00	\$58,725.00	\$546.00	\$47,502.00	\$690.00	\$60,030.00	
13	MISCELLANEOUS TRANSITION STRUCTURE NO. 1	EACH	2	\$14,000.00	\$28,000.00	\$23,000.00	\$46,000.00	\$33,000.00	\$66,000.00	
14	JUNCTION STRUCTURE NO. 2	EACH	$\begin{bmatrix} 2\\2 \end{bmatrix}$	\$4,000.00	\$8,000.00	\$4,900.00	\$9,800.00	\$4,300.00	\$8,600.00	
15	MANHOLE NO. 1	EACH	3	\$5,000.00	\$15,000.00	\$5,200.00	\$15,600.00	\$6,700.00	\$20,100.00	
	MINITOLE INC. I				ŕ	ŕ	·	,	·	
16	MANHOLE NO. 2	EACH	16	\$9,000.00	\$144,000.00	\$7,800.00	\$124,800.00	\$12,000.00	\$192,000.00	
17	MANHOLE NO. 3	EACH	1	\$2,800.00	\$2,800.00	\$4,260.00	\$4,260.00	\$4,900.00	\$4,900.00	
18	MANHOLE NO. 4	EACH	3	\$7,000.00	\$21,000.00	\$6,940.00	\$20,820.00	\$9,500.00	\$28,500.00	
19	96" RCP 1750D	L.F.	2,516	\$450.00	\$1,132,200.00	\$563.00	\$1,416,508.00	\$522.00	\$1,313,352.00	
20	84" RCP 1500D	L.F.	3,376	\$375.00	\$1,266,000.00	\$486.00	\$1,640,736.00	\$422.00	\$1,424,672.00	
21	36" RCP CLASS IV	L.F.	673	\$150.00	\$100,950.00	\$233.00	\$156,809.00	\$135.00	\$90,855.00	
22	24" RCP CLASS IV	L.F.	422	\$125.00	\$52,750.00	\$194.00	\$81,868.00	\$90.00	\$37,980.00	
23	18" RCP CLASS IV	L.F.	614	\$115.00	\$70,610.00	\$233.00	\$143,062.00	\$90.00	\$55,260.00	
24	AGGREGATE BASE, CLASS 2	C.Y.	1,420	\$70.00	\$99,400.00	\$79.00	\$112,180.00	\$100.00	\$142,000.00	
25	ASPHALT CONCRETE TYPE B	TONS	3,650	\$75.00	\$273,750.00	\$76.00	\$277,400.00	\$144.00	\$525,600.00	
26	TEMBOD A DV DECLIDE A CINIC	TONS	875	\$75.00	\$65,625,00	\$114.00	\$00.750.00	\$110.00	\$06.250.00	
26 27	TEMPORARY RESURFACING MISCELLANEOUS IRON AND STEEL	LBS.	23,275	\$75.00 \$1.00	\$65,625.00 \$23,275.00	\$114.00 \$1.00	\$99,750.00 \$23,275.00	\$110.00	\$96,250.00 \$23,275.00	
21	WIISCELLANEOUS IKON AND STEEL	LDS.	23,273	\$1.00	\$43,473.00	\$1.00	\$43,473.00	\$1.00	\$45,475.00	
								l		

GENESIS CONSTRUCTION

SRD ENGINEERING, INC.

Page 3 of 6

**UTAH PACIFIC** 

**Project Name:** HEMET MDP LINE D, STAGE 4 **Project Number:** 4-0-0211-04

Bid Open Date: 04/13/2006

Bid	<i>Open Date:</i> 04/13/2006			GENESIS CON	STRUCTION	SRD ENGINE	ERING, INC.	_	PACIFIC UCTION CO.
Item 1	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
28	TRAFFIC LOOP DETECTOR REPLACEMENT	L.F.	3,060	\$8.00	\$24,480.00	\$7.20	\$22,032.00	\$12.00	\$36,720.00
29	TRAFFIC SIGNAL CONDUIT RELOCATION	L.F.	30	\$100.00	\$3,000.00	\$57.50	\$1,725.00	\$130.00	\$3,900.00
30	REMODEL 4-INCH VCP HOUSE CONNECTORS	L.F.	50	\$100.00	\$5,000.00	\$394.00	\$19,700.00	\$70.00	\$3,500.00
31 32	DUST ABATEMENT STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S. L.S.	1 1	\$25,000.00 \$35,000.00	\$25,000.00 \$35,000.00	\$26,000.00 \$33,000.00	\$26,000.00 \$33,000.00	\$19,000.00 \$27,000.00	\$19,000.00 \$27,000.00

\$5,846,547.00 \$6,043,369.00 \$5,089,777.00

Page 4 of 6

**Project Name:** HEMET MDP LINE D, STAGE 4 **Project Number:** 4-0-0211-04

**Project Number:** 4-0-0211-04 **Bid Open Date:** 04/13/2006

## KEN THOMPSON, INC.

COLICH	AND	SONS
~ ~ ~ ~ ~ ~ ~		~ ~ 1 1 1

<i>Item</i> 1	No. & Description  MOBILIZATION	<i>Unit</i> L.S.	Quantity	<i>Unit Bid</i> \$240,000.00	<i>Total Bid</i> \$240,000.00	<i>Unit Bid</i> \$100,000.00	<i>Total Bid</i> \$100,000.00
2 3 4	WATER CONTROL TRAFFIC CONTROL CLEARING AND MISCELLANEOUS WORK	L.S. L.S. L.S.	1 1 1	\$28,000.00 \$44,000.00 \$25,000.00	\$28,000.00 \$44,000.00 \$25,000.00	\$1,000.00 \$50,000.00 \$10,000.00	\$1,000.00 \$50,000.00 \$10,000.00
5	EXCAVATION	C.Y.	49,100	\$13.00	\$638,300.00	\$5.00	\$245,500.00
6 7 8 9	ROADWAY EXCAVATION BACKFILL FILTER MATERIAL TRENCH SAFETY SYSTEM AND FALSE WORK CLASS "A" CONCRETE, REINFORCED CONCRETE BOX	C.Y. C.Y. C.Y. L.S.	135 30,700 100 1	\$53.00 \$27.00 \$49.00 \$103,000.00 \$2,000.00	\$7,155.00 \$828,900.00 \$4,900.00 \$103,000.00 \$16,000.00	\$100.00 \$4.00 \$35.00 \$200,000.00 \$2,000.00	\$13,500.00 \$122,800.00 \$3,500.00 \$200,000.00 \$16,000.00
11 12	CLASS "A" CONCRETE, MINOR STRUCTURES CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	220 87	\$1,600.00 \$1,400.00	\$352,000.00 \$121,800.00	\$800.00 \$550.00	\$176,000.00 \$47,850.00
13 14 15	TRANSITION STRUCTURE NO. 1 JUNCTION STRUCTURE NO. 2 MANHOLE NO. 1	EACH EACH EACH	2 2 3	\$10,000.00 \$6,000.00 \$8,500.00	\$20,000.00 \$12,000.00 \$25,500.00	\$27,000.00 \$2,500.00 \$3,500.00	\$54,000.00 \$5,000.00 \$10,500.00
16 17 18 19 20	MANHOLE NO. 2 MANHOLE NO. 3 MANHOLE NO. 4 96" RCP 1750D 84" RCP 1500D	EACH EACH EACH L.F. L.F.	16 1 3 2,516 3,376	\$8,500.00 \$8,500.00 \$11,000.00 \$693.00 \$578.00	\$136,000.00 \$8,500.00 \$33,000.00 \$1,743,588.00 \$1,951,328.00	\$7,000.00 \$1,500.00 \$3,600.00 \$1,040.00 \$890.00	\$112,000.00 \$1,500.00 \$10,800.00 \$2,616,640.00 \$3,004,640.00
21 22 23 24 25	36" RCP CLASS IV 24" RCP CLASS IV 18" RCP CLASS IV AGGREGATE BASE, CLASS 2 ASPHALT CONCRETE TYPE B	L.F. L.F. L.F. C.Y. TONS	673 422 614 1,420 3,650	\$205.00 \$132.00 \$61.00 \$70.00 \$126.00	\$137,965.00 \$55,704.00 \$37,454.00 \$99,400.00 \$459,900.00	\$150.00 \$100.00 \$85.00 \$55.00 \$120.00	\$100,950.00 \$42,200.00 \$52,190.00 \$78,100.00 \$438,000.00
26 27	TEMPORARY RESURFACING MISCELLANEOUS IRON AND STEEL	TONS LBS.	875 23,275	\$103.00 \$4.00	\$90,125.00 \$93,100.00	\$90.00 \$1.00	\$78,750.00 \$23,275.00

**Project Name:** HEMET MDP LINE D, STAGE 4 **Project Number:** 4-0-0211-04 Page 6 of 6 Bid Open Date: 04/13/2006

KEN THOMPSON, INC.

Item 1	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid
28	TRAFFIC LOOP DETECTOR REPLACEMENT	L.F.	3,060	\$50.00	\$153,000.00	\$8.00	\$24,480.00
29	TRAFFIC SIGNAL CONDUIT RELOCATION	L.F.	30	\$270.00	\$8,100.00	\$50.00	\$1,500.00
30	REMODEL 4-INCH VCP HOUSE CONNECTORS	L.F.	50	\$620.00	\$31,000.00	\$400.00	\$20,000.00
31 32	DUST ABATEMENT STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S. L.S.	1 1	\$67,000.00 \$40,000.00	\$67,000.00 \$40,000.00	\$30,000.00 \$10,000.00	\$30,000.00 \$10,000.00

\$7,700,675.00 \$7,611,719.00

**COLICH AND SONS**